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s ZOIEe LE A E Jieldl= =
v BHC K22 =48 MEote H=e
v IS X & Al(symbolicway)2 2 =4 ME (o
s LOIES 2t HAAL
v & int num;
v *
#include <stdio.h> int *pnum;
int main()
{
int num;
int *pnum;
pnum = &num;
*pnum = 7;
printf("%d\n", num);
}
= p= ZOIH A&l *peE E2IH I JtelIl= HAE 20
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#include <stdio.h> // OHJH ®H= OIH ZE208 1

void swap(int, int); int Xx;

zoid swap(int x, int y) int y;
int tmp;
tmp = Xx; int tmp;
X =Y;

y = tmp;

}

int main()

{ : .
int a=2, b=3; int a;
printf("a=%d, b=%d\n", a, b); int b;
swap(a,b);
printf("a=%d, b=%d\n", a, b);

}

memory

~
32bits
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#include <stdio.h> // OHJH Bi== OIM ZE20& 2 memory
void swap(int *, int *); int *x; |-
void swap(int *x, int *y) | ——
{ int *y; ............
int tmp;
tmp = *x; int tmp; [
*x o= *y;
¥y = tmp;
} scanf()0ll Al &AFZ B 01 RE OIH =, ] ]

int main()

{

int a=2, b=3;

printf("a

printf("a

=%
swap(&a, &b);
=%d,

b=%d\n", a, b);

b=%d\n", a, b);

S OtH Ak

int

int

del, elAE, Edl, XA, Sl
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#include <stdio.h>

int main(void)

{
int q = 100;
int *p;
*p = 100;
printf("%d\n", *p);
printf("%d\n", q);
return 0;

}
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#include <stdio.h>
int main(void)
{

double q;

char ch; e
g
int *p; ; compileAl warningO| 2 4.

-

printf("%x /x\n", ch *p);

patible pointer type [enabled by d

q 1234.;5;

p =] &q; A pointer6.c:13:4: warning: assignment from incompatible pointer type [enabled by
printf("%1f, %1f\n", q, *p); :
return 0;

zzignment from incompatible poi
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main()

{

##include <stdio.h>
#include <stdlib.h> // S& &

int *pi;

pi = malloc(4);

*pi = 1234;
printf("%d\n", *pi);
free(pi);
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#include <stdio.h>
int main(void)
{
char *pch, arr_ch[] = "ABCDEFG";
int *pi, arr_int[] = {10, 20, 30, 40, 50};
double *pd, arr_double[] = {1.1, 2.2, 3.3, 4.4, 5.5};
pch = arr_ch;
pi = arr_int; BHE OIS =2 & NZ i E 2 Al & ==20[CHIL
m==mrdmmw7-—-__xﬂ AL ZOIE O XI2HE [ =A|HAK 8l S
printf("%c, %c\n", *pch, arr_ch[0]);
printf("%d, %d\n", *pi, arr_int[0]);
printf("%1f, %1f\n\n", *pd, arr_double[0]); TolE) Aol Dok =9 ]
printf("%c, %c\n", *(pch+2), a ;
printf("%d, %d\n", *(pi+2), arr 1nt[2]),
printf("%1f, %1f\n\n", *(pd+2), arr_double[2]);
pch (char *)200; printf("%d\n", pch+2);
= (int *)200; printf(“"%d\n", pit+ 22 TOIE 2AI2[ZOIE Q)
= (double *)200; printf("%d\ S0 et 02 Z2ns 2t=rt
; Petum 0; (Z22H0 e ol g )
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memory

int *p;
int a[] = {10, 20, 30, 40, 50}; p = aj
memory
Oxfffffffc2 Xl Oxfffffffc 2 Xl

a[2]

a[0]

p+2
&a[2

[2] 040

. &a[0] P
cH Xl cH Xl
88 X 88 X
497 497
0B X 0B X

— _/ —

= 1A O E a a[0]= €L

—
32bits
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Lprintf("%d\n", *pi+3); E 8}Ei?]

ZOIH A0l 2 =0of XIXH!
#include <stdio.h>
int main(void)
{
int arr_int[] = {10, 20, 30, 40, 50};
int *pi;
pi = arr_int;
return 0;
}
v 20= EOIH ALz EHotHAH?
printf("%d\n", *(pi+l));
v 405 EQIH A2 &S0t H?
printf("%d\n", *(pi+3));—
agszEs e ; T .
NGO B0l BHOI Aas mz |, | PANTFCHAN, F(pis)); 8 BB
[ | B !

—
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{

##include <stdio.h>

int main(void)

int *pi, arr_int[] = {10, 20, 30, 40, 50};
int result;

pi = arr_int; /resuu = (*pi)++; S o2 ]

result = *pi++;

printf("%d, %d, %d\n", *pi, arr_int[@], arr_int[1]);
printf("result = %d\n", result);

printf("%d\n", *(pi+l));

return 0;
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s BIE2 ZCIHS2 FAtet dH3= =0
v MOIZI0l BHE OIS= AtESotH, i€ 0|2 1 BHE0ll g &£
Ol Jls= = (BHE2 0|52 LI & =)
» HiE OIS = QU2 (=2 HEAF S10]) ZIH Ul Xl& Jt=s
= MOl B=HIE OIS0 £/ A& EE Jts
= ZOIHIIEHE S JielZ &2, ZRIH0| Mol A= Ji=
#include <stdio.h>
int main(void)
{
int a[5] = {10, 20, 30, 40, 50};
int *p;
p = 8a[e]; & Jts }
printf("%d %d %d\n", a[@], a[2], a
p = 4a;
printf("%d %d %d\n", *p, *p+2, *p+d); J
printf("%d %d %d\n", *p, *(p+2), 5
printf("%d %d %d\n", *a, *(a+2), *(a+4));
printf("%d %d %d\n", p[@], p[2], p[4]);
}
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#include <stdio.h> // BHZE 0 HOIE{Cl XIO[&

int main(void)

{
int a[5] = {10, 20, 30, 40, 50};
int *p;
printf("%d\n", a[@0]);
printf("%d\n", a[l]);
p=a;
printf("%d\n", *p++);
printf("%d\n", *p++);
printf("%d\n",| *a++);!
printf("%d\n",i *a++);i HI Ol 0|22 TIOIE At
return @; Do ! error: lvalue required as increment operand

’ |

e EQOIEJEEHA0| D ZEe g2 H&AH02 HiRI] d) 7 IIs4d0l HS
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#include <stdio.h> // 2X& HIZEES EOQOHZ 2

int main(void)

int a[5][2] = {10, 20, 30, 40, 50, 60, 70, 80, 90, 100};

int *p;
p = &afe][e];
p = a; P

a[o];
printf("%d\n", *p);
printf("%d\n", *(p+1));

printf("%d\n", *p+1); MOEO| Ml ==

ST ol) |

printf("%d\n", *(p+2*2+1));
printf("%d\n", *(p+4*2+0));

p = a[2];

printf("%d\n", *p);
printf("%d\n", *(p+1));
return 0;
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v compiler0ll A lexical analysis (H 2 &4)

= I E8S Htoken2Z 7=

= lE =0 “Pointers are funto use"2 &2 & 20t token2 E 2 &
#include <stdio.h> // lexical analysis
#include <ctype.h>
int main(void)
{
char input[80]; char tmp_buf[12]; char *p, *q;
printf("Enter any Sentences\n"); gets(input);
p = input; g = tmp_buf;
while (*p) { 0l2{8t T2 08 WA o= KOt |
if (isalnum(*p))
*q++ = *p++;
else {
*qg = '\@'; printf("token = %s\n", tmp_buf);
p++; q = tmp_buf;
}
;
*qg = '\@'; printf("token = %s\n", tmp_buf);
return 0;
}
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#include <stdio.h> // EXAE &= IZLOIE O X
int main(void)
{
char *pch; / char [] pch = "Is it correct?"; ]
pch = "Is it correct?";
printf("%c\n", *pch);
return 0;
}

v =AE o=

rir

2= 20

printf("LI2 C &

ﬂJIO

Jteldle =

%c\n", *"Fantastic");

HO

printf("LI2 C &&= %s\n", (char *)"Fantastic");

= Ol Xl= printf()0il Al %clt %sZ| XI0|E 2 == UL
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#include <stdio.h>
int main(void)
{
int *i[3];
int a=1, b=2, c=3;
i[@0] = &a;
i[1] = &b;
i[2] = &c;
printf("%d, %d, %d\n", *i[@], *i[1], *i[2]);
return 0;
}

= OlNe Bl dEHE JE8C=Z JHEAMNR.
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#include <stdio.h> // CI& & X9 2tEHsE 0
int main(void)
{
int 1, *pi, **ppi;
pi = &i;
ppi = &pi;
i = 10;
printf("%d, %d\n", *pi, **ppi);
return 0;
}
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#include <stdio.h> //
int main(void)

{

int kor[10]
int eng[10] {78,
int math[10] {75,
int *course[3]; // %

Il
~
N
(W]
-

F-I[[
1=

EJEH(HIA-IE 2XH3 BHE Al

|

#include <stdio.h>

course[@] = kor; nain()

course[l] = eng; (

course[2] = math; int course[3][10] = {{7
{7
{75

printf("%d\n", *(course[1]+2));
printf("%d\n", *(course[2]+4)); printf("%d® S M= &
course[@][0],
printf("%d92 A= &
*(*(course+0)+

printf("%d\n", *(*(course+l)+1));
printf("%d\n", *(*(course+2)+3)); }

/] 2XHE HHE S ALE6tH

p, 80, 90, 75, 85, 95, 78, 88, 98, 100},
3, 93, 88, 65, 70, 80, 90, 75, 85, 95 },
, 85, 78, 93, 88, 98, 60, 70, 80, 90 }};

& %d, %d, %d\n", 0o,

course[1][@], course[2][0@]);

< %d, %d, %d\n", 7,

7), *(*(course+1)+7), *(*(course+2)+7));

printf("%dHo AU= AXH: %, %d, %d\n", 0,
*(*(course+0)+0), *(*(course+l)+0), *(*(course+2)+0));
printf("%dHo AU= &AXH: %, %d, %d\n", 7,
*(*(course+0)+7), *(*(course+l)+7), *(*(course+2)+7));
return 0;
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#include <stdio.h> 2l = 2| e s
#include <ctype.h>
#include <string.h>

char *axis_of_evil[] = {"iraq",
"northkorea", ""};

char input[80], *p;

void next_token(char *q)

{
while (*p) {
if (isalnum(*p))
*qQ++ = *p++;
else {
*q = "\@';
if (*p = '\@")
p++;
return;
}
}
*q = "\@';
return;
}

int main(void)

{

char buf[20];
int i;

printf("Enter any Sentences\n");
gets(input);

p = input;
next_token(buf);
while (strcmp(buf, "")) {
for (i=0; strcmp(axis_of evil[i], ); i++)
if (!strcmp(axis_of_evil[i], buf))
printf("%s is found in \"%s\“ \n",
axis_of_evil[i], input);
next_token(buf);

}

return 0;
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v SEE 0N SESe S0 Ha g2 HI A HHE EQIHE
AS = 4 HOIX GlH &X,
v scanf() & A M2l B2
v HBHE

#include <stdio.h> [l O OHOH = (HHE)
void strcpy_new(char *p, char *q)
{
while (*q)
pt+ = Qe
*p ="04
}
int main(void)
{
char dest[40], src[40] = “This is the last slide.";
strcpy_new(dest, src);
puts(dest);
return O;
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#include <stdio.h> [l EOIECS| EOIH (=20] &EJIE...M)

void func1(int x[][3])

{
printf("%d\n", **x);
printf("%d\n", **x+1);
printf("%d\n", **(x+1));
printf("%d\n", *(*x+1));
printf("%d\n", *(*(x+1)+2));

}

main()

{ int a[2][3] = {10, 20, 30, 40, 50, 60};
funci1(a);

}
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#include <stdio.h> /] <= LOlE

int add(int x, int y)

{
printf("%d + %d = %d\n", X, y, X+y);
return O;
}
main()
{
int (*p)(int, int);
p = add;
p(2, 3);
}
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#include <stdio.h> N2XH3 BHE S Z2IH A2 &HZ2ot= &Y
main()
{
int a[5][2] = {10, 20, 30, 40, 50, 60, 70, 80, 90, 100};
int *p; XA B E
int *q[2]; I OIH O B &
int (*r)[2]; [/ BHE 2] L OIF
p = a; /1. ZPIHZ &2
printf("%d\n", *p);
printf("%d\n", *(p+1)); AU Al Ofl e 4y,
printf(*%edin®, *(p+2°2+1)) SOl B0l M22 2tS RIS & gl

printf("%d\n", **a); /l 2. BH
printf("%d\n", *(*a+1)):
printf("%d\n", *(*(a+

q=a;
printf("%d\n", **q);
printf("%d\n", *(*q+1));
printf("%d\n", *(*(q+2)+1));

r=a; 114 HIS 2| EOIE AIZ
printf("%d\n", **r);

printf("%d\n", *(*r+1));

printf("%d\n", *(*(r+2)+1));
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#include <stdio.h> // ZQIH AI{AN D&t HE2

main()

{

int a[5] = {10, 20,};

printf("a[1] = %d\n", a[1]);
printf("1[a] = %d\n", 1[a]);
printf("*(a+1) = %d\n", *(a+1));
printf("*(1+a) = %d\n", *(1+a));

?BHE0NHA=?
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